
O
n
 t

h
is

 c
lo

c
k
, t

h
e
 h

o
u
r
 is

 7
. 

5
2
 m

in
u
t
e
s
 h

a
v
e
 p

a
s
s
e
d
 s

in
c
e
 t

h
e
 h

o
u
r
.

The	tim
e	is	...
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O
nce	the	tim

e	is	m
ore	than	30	m

inutes	past	the	hour,	w
e	

say	how
	m

any	m
inutes	are	left	to	the	nexthour.	

Rem
em

ber,	there	are	60	m
inutes	in	an	hour.

52
60

+	8



T
h
e
 h

o
u
r
 is

 1
0

.

4
7
 m

in
u
t
e
s
 h

a
v
e
 p

a
s
s
e
d
 s

in
c
e
 t

h
e
 h

o
u
r
.

47
60

+	13

The	tim
e	is	...



Set	these	digital	tim
es	on	an	analogue	clock.

9:37
3:58

23 m
inutes to 10

2 m
inutes to 4



Set	these	digital	tim
es	on	an	analogue	clock.

8:49
1:32



W
hat	tim

e	is	show
n	on	each	clock?

W
hat	w

ould	this	be	as	a	digital	tim
e?

3 m
inutes to 9

18 m
inutes to 3



W
hat	tim

e	is	show
n	on	each	clock?

W
hat	w

ould	this	be	as	a	digital	tim
e?


